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QUESTION 1

You have been asked to change a process so that only automatically determined conditions are redetermined in the
billing document during sales invoicing. 

Where is this behavior controlled? 

A. In the item category of the billing type 

B. In the billing type 

C. In the copy control at item level 

D. In the condition type 

Correct Answer: C 

 

QUESTION 2

Which of the following criteria influence the shipping point determination in the sales document? (Choose three) 

A. Plant 

B. Shipping condition 

C. Transportation group 

D. Loading group 

E. Storage condition 

Correct Answer: ABD 

 

QUESTION 3

Based on which of the following dates is the availability check (ATP) carried out? 

A. Requested delivery date 

B. Material availability date 

C. Confirmed delivery date 

D. Replenishment lead date 

Correct Answer: B 

 

QUESTION 4
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Your company wants to set up a freight surcharge with scale based on a total weight of all items in a sales order. 

How do you set up this requirement? 

A. With a graduated-to interval scale 

B. As a header condition 

C. With a calculation rule 

D. As a group condition 

Correct Answer: D 

 

QUESTION 5

What can be identified as the most likely reason for a delivery split in a collective delivery run? 

A. The shipping conditions of two separate items in the sales order differ from one another. 

B. The loading group of one of the items in the sales order differs from the others. 

C. The sales order line items have the same route and the same shipping point, but different ship-to parties. 

D. The physical weight of the total line items exceeds the capacity of the truck that is being used to deliver the product. 

Correct Answer: C 
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